
Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kerro kymmenen teholla (puuttuva luku)

3, 114 × ________ = 311.4 7, 543 × ________ = 75.43

8, 377 × ________ = 83.77 7, 401 × ________ = 74.01

3, 476 × ________ = 3476 6, 494 × ________ = 64.94

2, 288 × ________ = 22.88 2, 411 × ________ = 2411

1, 964 × ________ = 19.64 1, 13 × ________ = 1130

5, 86 × ________ = 5860 4, 669 × ________ = 466.9

1, 367 × ________ = 136.7 5, 326 × ________ = 5326

9, 51 × ________ = 95.1 6, 364 × ________ = 63.64

10, 143 × ________ = 101.43 1, 508 × ________ = 1508

8, 655 × ________ = 86.55 3, 66 × ________ = 366
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